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1. Which deity is prayed inmsft s ? 5. ‘@uiadl is concerned with :

(A). % (A) F%
B) af B)
(© Fmy | il
AR (D) ared

. 6. ‘T Wig 9gHl a&f< — this stanza
2.  Theword ‘3t in %% is intended
widh is occurred in which Veda ?

e A) YT

(AR ®) i

(B) = , (C) §wd=

(C) = (D) ]

(D) &= 7. Which priest presides over a
3. s sacrifice?

@ g ‘ e &

® it » 52,280

© wwRw e

(©) s ) el

8.  Which sT&Thas two parts as ‘58’ and

‘IW 7
(A)  HSTHEEH
, (A) Ay
B) It d=wt
) ®) i
(C) forvaama smdht (©) T
(D) &1 Hiftrht (D) awe

RS- 18/16 (2) . Contd.



10.

1.

12.

RS -18/16

(D) awm

According to STeRHTST, STETUII-IE
gftare fows -

(A) 4

(B) &

€

(D) 2o

The Wofaﬁrafé%'ié:‘
(A) uafam

(B) U@

(C) Ty

(D) w9y

Following which is not belongs to

FaE ?

(A TETTEE

(B) F&RUIRH
(C) YTETIAROIHY
(D) VI~

13.

14.

15.

186.

- (3)

‘gd wfeag s&’ uttered in which
safeg 7

(A) FEERTIR

B) ¥xWa

(C) BTNy

(D) =W

IS -SETA -6 belongs to which

3ufiwg ?

(A) BT
(B) W
(C)
(D) FEERUTH

“$sfafiwg belongs to which 3g: ?
(A) T

(B) FEGI:

(C) YFwgae:

(D) @ k

‘argaat v | figeat wa | wrerdeat va |

st wa | This stanza coined from :

o949

A) B
(B) vHaTEERR
(C) dferdaraieg
(D) FERIH

(Tum'over)



17. €EF-An-99eviH — context occurred

18.

19.

20.

in which 3ufisg ?
(A) 3

(B) mER
(C) wfuse=
(D) FEIRTTH

The context of 3tfifa=m is discussed in :

(A) 3
(B) YaamE@

. (C) wfesem

(D) dgaroaH
‘Tt isin
(A) BT=ra
(B) A

- (C) =

(D) dE<Ish
‘Wﬁqmﬁ,qm:mﬁm

whostated ?
(A) zfusa:
(B) forgamorey
(C) Wy
(D) TEmETEE

RS —-18/16
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22.

23.

24.

According to d1¥ how many
chapters are in f&&® ?

(A) 2R

(B) ¥

(C) 1&

(D) ¢

Which one of the following is not
belongs to Freer Trend: 7
(A) -SRI,

(B) uhwg

(C) wTHg

(0) FF-TEm,

How many letters contains — ‘3wfig-

g 7

(A) ¥
(B) R¢
C) ®

(D) 3%

Who introduced 3t=isaifay ? k
(A) U

®) g

©) a0 O
(D) TEEAEE:

j Contd.



25.

26.

W ho s the SO Of gEeaa ?
(A) IHF:

(B) drEw:

(C) uya=H:

(D) weter:

gaigsavit belongs to :

P (A). FH:

27,

28.

(B) FHemEN:
(C) wE=:

(D) ITE=h: _

AN - IIHH related to :
(A) FET:

(B) FIEIT:

(C) YFwagde:

(D) umaRE:

According to Maxmuillar the date of
FAE is

(A) 3400 a‘}oqzﬁo'

(B) R4oo todto

(C) %Roo dodllo

(D) ¥4oo sftodto

RS —-18/16

(5)

29.

30.

31.

32.

According to Lokamanya Tilak the
period of g is :

(A) &ooo-¥4oo HfoHlo

(B) ¥400-200 oo
(C) ¥ooo-3Y4oo HfoHo

(D) R4 o00-2R00 ’&ﬁo‘{ﬂo

Who is not commentator of #%3g ?

(A) TR

‘(B) WA

(C) ThEamt

(D) wreE:

The oldest commentator of F(: is :
(A) @

(B) aaTHt

(C) Thaardt

(D) wa:
‘AT’ belongs to :
(A) &g

(B) . &wmgy:

(C) 3Tt

(D) wrva:

(Turn over)



33. Match the following : 36. SrqETEH!-HiET :

(@) emwmiEE () dfcd: (A) TETRAY

(b) S AT (B) TH™EVH
Maed: gaed: (i) ASE: | (C) TT=RITEH

(c) (iii) TR D) #

(d) ToW: TG & 37, SRR S A A gE: who
TR T WITY, (iv) TEERT: stated this ? |

(A) i, i, iii & iv 'y A) TH:

(B) i, iv, i &ii |  (B) Fnfm:

©wiii&i | (C) =

(D) i, iv, iii & i (D) &m:

34. Hanuman's mothernameis: 38. How many @ in T@TEW: ?

(A) 3 (A) 32
B) Rf (B) 3W%
(C) 3=gla | » (C) 33%
(D) srEe (D) oo

35. TYRY &A1 : 39. The last 9d of HgTwRaH :

(A) wferan (A) TeEuE:

(B) fersrran (B) IIITIATE:

(©) R O (©) s e e
(D) = (D) wriETTs:

RS -18/16 (6) ' Cok i



40.

41.

42.

43.

L4

ARSI is in which 94 ?

(A) guTIEToT
(B) audflr
(C) 3mfeuaifor
(D) frsradfir
Spreicac St
(A) HETYRTY,
(B) ™Y
(C) Tgw,
(D) FHREREH
Tqfdufores dfe is :
(A)  HETHREH

(B) THM™UH
(C) =FWde:

(D) frgTerer

qrUEEHI 3rFTaeT found in :
(A) TTEETT

(B) aTudfin

(C) fatreudfn

(D) sfeReRTaETtr
T ST 2 s -

(A)  THTIUREIR

RS - 18/16

(7)

45.

46.

47.

48.

(B) fiets et

(C) Tgsiia

(D) T dift
crsTTE s
(A) 3TIETHIVE

.(B) RECaLS

(C) Frferumrvs

(D) IRTTHE

Who is writer of ‘937 aftar’ ?

(A) TR
(B) .II""E
(C) fomrgft
(D) ﬁmm
AR FE<H 94 s
(A) ¥
(B) wmf<iud
(C) v
(D) e

FwiaE: s

(A) =@
(B) FOEI:
(C) Rrarerarey
(D) wEwRaH

(Turn over)



49.

50.

91.

52.

53.

Numbers of 3UgITT :

(A)
(B)
(€)

(D)

Ro¢
¢
3

LA

Which is not AgTIUH ?

(A ATy

(B) FgITy
(C) damggIH
(D)  srfigarony

‘Which one is not AgT&= ¢

(A) T,
(B) FHTEREY
(C) ferurarefam

(D) TaUEaYq

ITHHTH i :
) Frrfm
(B) fRmparcraeny
(C) Auefrzrafay
(D) &forsem,

Sepread is :
(A) STHHIETH

RS -18/16
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54.

55.

56.

57.

(B) fRrgpareraey
(C) Iuefiafay
(D) &y

ggordt in the following is :

(A) TEY

(B) FHREFEH
(C) fortrarsfan
(D) TEOREE

JrEFel s ¢

(A) e
(B) TREIEHT

(C) e

(D) e
TerTieeae T4 s

(A)  wra, sfgd:, @ -

(B) iferard, FHREM, Wel
(C) avel, gory, e

(D) fommaTET:, wavfd:, A=
TR s

(A) drEaeT

(B) FewR

(C) wgmafay
(D) TR

' Contd.



58.

59.

60.

61.

62.

RS -18/16

QA q A

(A) fda:

(B) e

(C) creursomTT

(D) foretTy:

Who is the writer of “[eewdt e ?
(A) Tomes

(B) fommfinrg:

(C) g

(D) Rraera:

Chapters of f&diaesr:
) 4

® ¥

(C) 4

(D) &

In f&diaesr: Sunday is named as
(A) TfecaTEr:
(B) Teamer:

(C) vERHRdTEL:

JD) e

How many YUl is in ¥feTme ?
(A)
(B)

2y
240

65.

+i(9)

63.

64.

66.

(C) ¢

(D) 2Ro

According to gTa:, famm is
A) 2

(B) R

© 3

(D) ¥

Third 21fereror of rdwTe s

(A) AT

‘gia%rﬁﬁm;— is written by :
(A) famsR g

(B) W@ WU

(©) o

(D) wgsa wmEt
‘gematay is written by
(A) femer wgmE

(B) gustiany fas
(C) &Fw vyt .
(D) TSx fam

(Turnover)



67.

68.

69.

70.

71.

What is evfasieremesegs ?
A) sfarcie '
(B) wt:afuerd: dfar

(C) grarersact Femiy

(D) ar=afy T

What is gfgaaiasmaegs ?
(A) o

(B) Fhewes

(C) R

(D) sreE:

afe + AAfy = Fafy, which g3 is
applied ?

(A) IS fe

B) o v

(C) wwhEufy

(D) wEisTENmE:

What is TRRIGum™HES ?
(A) it wedl -
(B) &=

(C) w.wfwerd: wfgar
(D) A faftrew

I A AN is -

(A) rERdied

B) I

RS -~ 18/16

12,

73.

74.

75.

(C) &a=<aq

(D) SIS §q
What is faq in st 2fFat ?
(A) ™

(B) 3R

(C) @

(D) o

T + FE = AT, which o is
applied ?

A g

(B) ufs wEuy

(C) s,

(D) wEIsTEEmE:
st + = sften, Which q7 is
applied ? ol
(A) qgtrammﬁ
(B) i wwy
(C) e

(D) srEis<aE fe

g ATy is
(A) it el
(B) R

(C) a@rrgaamﬁﬁaq
(D) E=w =

g5 N

(9

Contd.



76. UH:, B, 984 is

7.

78.

79.

(A) T stgae wemr
(B) afomor Stem wemn
(C) == seTed e
(D) YA ST GAqHT

‘FF s

A ﬁaw@{

(B) faftregm

(RICILITEL

(D) rferehreag

‘3ite yssT: T g6 by which g3,
FHaq wafd ?

(A) THiE

@) e Hitem

(C) ehyjerriur: FHw:
(D) aufor feeftan
THIAG T is
(A Femy
(B) ®IRIY
(C) gRwTaTeEy
©) s

RS -18/16
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80. WIEA AU, 3193q, - which is I

81.

82.

83.

applied ?
(A)  FgFH:

(B) #ik=

(C) FATEEAREIEIN
(D) 379 geftar

AR YH: is :

(A) el gl
(B) o gefram
(C) ared =gt
(D) #aé’r@?ﬁm
YR Hfd foe:
(A) ffau:
(B) f-faw.
(C) =g
(D) wafae:

‘@ur’ wse I which fawfe ?

(A) el
® =g
(C) ugt
(D) wsi

(Turn over)



84.

85.

86.

87.

88.

(C) el
(D) i

TSI Arer: is which fawfs: ?

(A) g
(B) uah

RS -18/16

89.

90.

g1,

92.

(C) =geft
(D) et

ffiq = is which fewfe ?

(A) gt

(B) ww

(C) =geft

(D)

FIATESIRATEIN! here 3T&aH: means
A) T

(B)

(C)

(D) e
FETHEY T is ¢

(A) o T
(B) Al He-mAE

(C) gsTIwHe

(D) 3fre=i wTRIR ST
e et Az —

(A) 3T

(B) sw:

(C) Fnmm

D) f

Contd.



93. ‘wwfur fiftw =, here EﬂﬁaT is in

94.

95.

96.

which fasfe: ?
(A) ugH

(B) wwHt

(C) =geff

(D) e

‘afirrgaER F: TR which fonifte ?
(A) w=ft

(B) g

(C) =geff

(D) ws

‘g@= Hfef=q:’, gl is in which
!

(A) femamia

(B) ww@d== i

(C) wETHsIUH

(D) ITTEfIHR:
Types of ‘frRr:” (IreaTiaen: ) :

A) 2
(B) R
(C) 3

(D) ¥

RS -18/16
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oF.

98.

99.

100.

‘ffa == which &3 lead ?
A) @

(B) =

(C) #

(D) g
yfcrafesre foramre g is

(A) gty

(B) referuTqesieaa: sy
(C) srferafesprg foefery =

(D) wferafeerre fergamafmmoreramam

g, oft, 919, oMW, 3N these y&d

become :

(A) G

(B) ufean

(C) AN

(D) wavf

a1 gfe: wgwen asfa fafigew..., 8=
of this ¥&i&: is :

(A) wfert

(B) gfsamn

(C) w=TshT=l

(D) @R

(Turn over)



101.

102.

103.

104.

RS -

AfFHF YU TEH which g
is indicated ? |
(A) U .

(B) @

(C) we:

(D) aut:

TR Wt & ?
(A) TEEwE:

(B) TR

(C) =THE:

(D)  feregspror et

According to Tgavg: which category
of SETEHT of SRR is ?
(A) FHAEE

(B) 3cuTa

(C) wFmfasr

(D) i

What was the name of FiRrg: in
SR RIENIE T o

(A) vt

(B) g

(C) shiee:

(D) drature:

18/16

(14)

105.

106

107.

108.

gdend: was playing with

(A R

(B) Haa
(C) wrhvea:

(D) <=

In which 31§ of igwaa, fashre
is found ? |

A fdfr:

(B) =g

(C) 9=m:

(D) us:

ga @ Heicaeuayen e
sygftsda@afd — here which
HAGHR: ¢

(A) sfdawde

B) Frat

(C) ==

(D) dus

aa sk fves: @ga: — who

- stated this ?

(A) g

®)

(C) fogwa:
(D) SEWa:

Contd.



109. wTfr shew wetiy Frema wsee who

110.

1.

112,

stated this ?
(A) rEa:

(B) frraet

(C) g

(D) %W

How many songs we come across
in e ?

A) 2

(B) R

C) 3

(D) ¥

Who is &9: ? "
(A) farvafim:
(B) gatm
(C) uR=:

(D). @ua:

Ya¥T#: is seen in which 3T§&: of
shmrege 7

(A) g

(8) =gd:

(C) u9=m:

(D) §E:

RS- 18/16

(15)

113. Who accompanied with ¥%: upto

" mountain & ?

(A) TSEH

(B) dSetTanT:

114. According to #Tfeterd:, which is not

~ component of #8: ?

115.

ast:

(B) ¥

(A)

(C) =&q

(D) =am:

How many ¥&1%: are in @89 ?
A) |
®)
©
(D)

&Y
go
g9 .

Yo

116. FUSTSTIRT S 5 EwE, here

7 is
(A) T
(B) #Aw:
(C) mh:

(D) a%:

~(Tumover)



~ 117. Which one of the following is 21t of

118.

119.

120.

RS -18/16

afgrer: in wega: ?
(A) axaahﬁzﬁ
(B) Aot
(C) e
(D) Hosfiad

‘gl is situated in which state ?
(A) IETRY: |

(B) HETNR:

(C) sbmre

(D) wewE:

What is the present name of the river
o '
(A)

®)

(C) Fd

(D) et

When J¢: became free from curse ?

(A) TSR, -
(B) ddrerfishiew
(C) fRrerergdam

(D) SrErgfeiaEm

a 'k

(16)

121

}smmré Fufa efrarsitfaarears=raf,

qufd’ means : .

(A) STREHTE:
(B)

(C) T

ATIUHTH:

(D) 3a:

In front of house of I&:, which

mountain is seen ?
(A) TERIEEd:
(B) "ihaudd:
(C) TrsehTda:
(D)  FsrteEa:

123. What is the ‘&= applied in Begay ?

(A)
(B) wgefatshiEay
(C) gafarefrsry,

(D) "Tshrt

- qYqq

124. The main source of HHgTTEdIdTis :

(A) fsqud:
(B) wuiva:
(C) @vE:
(D) Fud:

Contd.



125¢

126.

127.

‘TR Tt TETRAT: WY:.... here

Tfteha: is

(A) am

(B) Fm:

(C) 3d:

(D) g

3 3 ferd a1 T, the stanza
is taken from :

(A) wafg

(B) hrafeg

(C) Hmgmragian

(D) $Wmfrwg

‘graif sforify @en frer...”, @it

- here means :

128.

RS -

®) s

(B) &9

(C) 3IrAgHR

(D) awrE

‘s & e g e v —
the stanza has taken from which
JAN ¢

(A) fadf:

18/16
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128.

130.

131.

(B) geft=:
(C) =gd:

(D) gaEw:

All 1™ of HHwagial is joined '
with :

(A) uUd:
(B) amm:
(C) e

(D) uf=de:

TZEINSEA: of AfiHarari is known
as:

(A)  fengfeam:

(B) wfwram:

(C) swer:

(D) geee:

‘aife e ity T 3w e,
here =1 is :

(A) e

(B) wB=itd

(C) wfn

(D) e

(Turnover)



132..How many 'mahtras are in 136. Which category of q13eh: should be

qeeElisem: ? in it 7

A) ¢ | (A). Hrer:
B) % @ s
('C) %% (C) drafma:
D) () e

| 137. A i T, t f ATt
133. What is the name of ¥8-uftga: of 37. According to %WWT , types o

8 fop. 7 is :
"
(A) =erEEy: faegeny vy -3
(B} 3%
(B) Tw3-w=ang: feuum
~ C) 3
(C) Tu: fewuy
(D) ¥
(D) {f%: fFrewom

138. Which category of 919%: should be
134. 1fi@: of TewH is :

in SeRuT: 7
# @) i
ST | @) e
(©) s (©) e
(L) s | (D) HhTEI=T:

135. fe=mnfesa Tae: of the following is 139. Types of STRH: is -

(A)  Higwnea: A) 3
(B) g™ . : - (B) ¥
(C) s ‘@ w
(D) dvarea: | D) &

RS - 18/16 (18) Contd.



140. What.is the name of third types

qf: ?

(A) miaf:

~ (B) yfgmEfe:

.

)

142.

143

(C) fermretafae:

(D) Feaf:

How many sre: of famstaf=: ?
(A) 2R
23
(C) ¥ .

(D) g4
How many 3T&: are in 9g4f: ?

(A) &R

(B) &3

| (C) =&y

(D) &4

Fill the blanks :

yrafees yaerey afd — |
(A) &
| frg
(C) uarent

(D) W=

RS -18/16
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144, 73 FEIHAME! g TS|

IR WRREY | §fd wga: 1l
(A) F@:
(B) wia:

- (C) fomst

145.

146.

147.

(D) faefgw
Foushifed ———
(A) THERA

(B) e

(C) = |

(D) Fepst:
Example of S is :
(A) et

®) TEThEE
© R
(D) sy

Example of T&&q is :
(A) sfersre:

(B) forgwe:

(C) Al

(D) HTATERTATITRA,

- (Turn over)



148.

149.

150.

151.

152.

Types of gfw: according to fawaaTy:

is :

A) ¥
B) 3
© «
(D) &

Which @:. is in @redigra: ?
(A) TIW: '

(B)

(C) =

(D) q=:

Example of ST is
(A) ey

(B) WHsHITH

(C) FgATEfa:
(D) wrferehTETo

yawreh: speaks in which language ?

(A) Fﬂaﬁ

(B) wife

(C) wrpa:

(D) wwreft

What is the 31€7fita: of AgTHEA: 7

(A) T

- (B) W=

RS -

18/16

153.

154.

155.

156.

(C) e

(D) A=

In STEHANTHTET W& is known as
(A) - T

(B) ud:

(C) 3ITwETE:

(D) fomst:

According to ﬁ?ﬁmﬁl:, types of
TEEE s

(A) 3

®

(C) ¥

(D) =

To whom fagaa: prayed in his
afderedo: 7 '
(A) ardt

(B fima:

(C) T
(D) fery

How many 31T are of gatET: ?
(A) 2 |

(B) %

(C) ' EE.

(D) ¥

Contd.



157. WRITStaTa T4 o ffifaa

158.

gwa fafsiau=ed wdawrt e i
The weiie: is having which 31g9m: ?

(D) AILIE:
Types ofm::
A) R

B) ¢

(C) =

- (D) ¥

~159.

160.

Types of STHTTEHT: :
A)
B) ¥
(). &

(D) Rv

srfa=fig diea WacassHegeH |

el aed qeage St =T |

(Identify 3TcTE=hR:)
(A)  Igi=aTa:

RS - 18/16

161.

162.

(B) MM
(C) @@
(D) diush
Types of Hﬁm :

(A) 3

'(B). R

(C)

(D) ¥

Fill up the blank :

Mo swaeref it H |

fe TR SRR A ||
(A) =afee: | |

(B) ww:

(©) i

(D) R

163.

Types of rfarsrnth - STerEgeRn:
A) 4
(B) R
(€. 3

D) ¥

(Turn over)



164. Fill up the blank : SRS 165. Identify JTeTEeHT: :

Hﬁ%ﬁﬁw@_wﬁm“ §WW:$W:I
(A) Ty fereftdgeat weTggu-TTer |mRy ||
(B) Iqe o (A)  Agia=TE:
(©) FrmR: AR) G

, (C) fommwifes:
(D) FrAferETT (€)

(D) frest

RS -18/16 (22) Contd.



" SPACE FOR ROUGH WORK
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